CrEA—T 20X EBRE I LRk—JL:1.2.3.4.5.6.7.8.9

ouT *, %k, k. kK k
11HA23H IN .k ok ok k%
JIE {32 NAME ouT IN GROSS | H.D NET JIE {32 NAME ouT IN GROSS | H.D NET
115 3 L BR 40 44 84 | 14.4 | 69.6 3/|L ¥ — ¥ 45 49 94 | 18.0 | 76.0
AR = F 47 42 89 | 19.2 | 69.8 38/ Lk & & 41 40 81 4.8 | 76.2
3= L i = 41 40 81 10.8 | /0.2 39(& N B — 45 54 99 | 22.8 | /6.2
44383 =R X 40 41 81 9.6 | /1.4 40/ w ¥ 15 5] 45 48 93 | 16.8 | /6.2
bli® Bk — ¥ 42 42 84 | 12.0 | 72.0 A4 # % K R o4 45 99 | 22.8 | /6.2
6|.% =) 4h 40 38 718 6.0 | 72.0 42|k & M = 42 49 01 14.4 | 76.6
i 1A L - 48 41 89 | 16.8 | /2.2 4313 @ i 41 06 97 | 20.4 | 76.6
#iBG 8| = L £ F 42 44 86 | 13.2 | 72.8 Mg H = 7%, 50 52 102 | 25.2 | 76.8
EMBG 9|F] W a 1 36 38 74 1.2 | 72.8 A5\ ) s £ 43 41 84 1.2 | 76.8
1077 W Fo B 43 42 8 | 12.0 | 73.0 46| fn 3@ B A= 47 49 96 | 19.2 | /6.8
[HIESRL Fa A 45 46 91 18.0 | 73.0 47| % N i 53 49 102 | 25.2 | 76.8
12| A, % & Fa 39 39 /8 4.8 | 73.2 48|18 KR % gk 40 50 90 | 13.2 | 76.8
13/ = X & T 43 46 89 | 15.6 | 73.4 49| + E3) (5 39 39 /8 1.2 | 76.8
144> 3K b 42 40 82 8.4 | 73.6 50/ K s > 45 44 89 | 1220 | 71.0
1518 w Fa 15 44 49 93 | 19.2 | /3.8 IE S L 2l 46 49 95 | 18.0 | 77.0
16/.L &K Fa K 44 42 86 | 12.0 | 74.0 52| A A 47 54 101 | 24.0 | 77.0
173 & DA 44 42 86 | 12.0 | 74.0 23| F B & 92 49 101 | 24.0 | 77.0
18/t A M E 40 40 80 6.0 | 74.0 h4E w W E 41 A1 82 4.8 | 71.2
19/~ A X 42 49 91 16.8 | 74.2 29| F  FH % — 45 41 86 8.4 | 71.6
20| F# ik B 51 52 103 | 28.8 | 74.2 6| kK & — X o0 48 98 | 20.4 | /7.6
211& » N F B 45 45 90 | 15.6 | 74.4 b1IA A A %k 49 1) 104 | 26.4 | 7].6
22|% W ¥k o0 46 96 | 21.6 | /4.4 8|5 w AES 49 42 01 13.2 | 71.8
23|/ AR A o1 51 102 | 27.6 | 74.4 59/ v A L 47 44 91 13.2 | 71.8
24| % = JH 3]/ 41 /8 3.6 | /4.4 60|2m )| Bk 47 43 90 | 12.0 | /8.0
25/ %F A Z® = BR o1 06 107 | 32.4 | 74.6 61 % % % oA 49 23 102 | 24.0 | 78.0
IS B = 39 44 83 8.4 | 74.6 62| 2 43 53 96 | 18.0 | 78.0
27| i% & 1% 3]/ 39 16 1.2 | 74.8 63-F K BES 48 47 95 | 16.8 | /8.2
28|7& L B El 43 45 88 | 13.2 | 74.8 64| F W & B 09 09 118 | 39.6 | 78.4
29| Bk B = 43 49 92 | 16.8 | /5.2 65| % 5 7K 92 o4 106 | 27.6 | 78.4
30| F & B F 41 43 84 8.4 | 75.6 66| =2 EE 43 50 93 | 14.4 | 78.6
31|k & X 41 43 84 8.4 | 75.6 67/, % & AT 42 44 86 ].2 | 18.8
2|5 EFF B £ 45 45 90 | 14.4 | 75.6 68| A B R 48 06 104 | 25.2 | 78.8
33| 4§ A 37 47 84 8.4 | 75.6 695 W EE o4 49 103 | 24.0 | 79.0
34| % 9] g £ 7 42 47 89 | 13.2 | 75.8 10/ = & F — BR 47 49 96 | 16.8 | /9.2
357 W F — 45 44 89 | 13.2 | 75.8 A 55 2 42 48 90 | 10.8 | /9.2
36(/n  HF R 52 54 106 | 30.0 | 76.0 12|% w ERNT 53 53 106 | 26.4 | 79.6




B, EA—T TN RBRA [BLAR—)L:1.2.3.456.7.8.9

ouT *, %k, k. kK k
11HA23H IN .k ok ok k%
&z NAME ouT IN GROSS T H.D NET MNE 5z NAME ouT IN GROSS T H.D NET
13 & wm Fo F F 06 06 112 | 32.4 | 79.6
4L W’ B 1R 47 02 99 | 19.2 | 79.8
/5= A = = 44 54 98 | 18.0 | 80.0
165 = £ & T 09 51 116 | 36.0 | 80.0
11F 1k £ d * 46 50 96 | 15.6 | 80.4
18|% Ak 2R ;4 23 54 107 | 26.4 | 80.6
19 A F B o1 1) 106 | 25.2 | 80.8
80| &K %+ 39 49 88 7.2 | 80.8
817 7K i IE 41 47 88 7.2 | 80.8
8278 Bk E N 4] 46 93 | 12.0 | 81.0
RIENT % gh 57 58 115 | 33.6 | 81.4
84|w ¥ M A 4 o1 51 102 | 20.4 | 81.6
85| K #f A BR 48 06 104 | 21.6 | 82.4
86| N R 57 53 110 | 27.6 | 82.4
87/:4H ¥ R T 49 53 102 | 19.2 | 82.8
88|F £ £ &£ ¥ F 1) 53 108 | 24.0 | 84.0
89| w * 5 99 o1 106 | 21.6 | 84.4
90~ & BT 48 06 104 | 19.2 | 84.8
M1&s &K Y T 09 o]/ 116 | 31.2 | 84.8
9211 & 0 I o/ 58 115 | 30.0 | 85.0
937Kk & ¥ K 03 1) 108 | 22.8 | 85.2
04| % Bk H A 1) 61 116 | 26.4 | 89.6
95/ L #® T 61 11 132 | 40.0 | 92.0




